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1.   B  #C  $D œ "
 #B  &C  )D œ %
 $B  )C  "$D œ (

2.   B  #C  %D œ  %
 #B  &C  *D œ  "!
 $B  #C  $D œ ""

$Þ B  #C  $D œ  " 
 $B  C  #D œ  (

 &B  $C  %D œ #

4.   #B  $B  B  B œ !" # $ %

 B  B  B  B œ "" # $ %

 B  B  B B œ "" # $ %

&Þ For the following matrices and vectors:

 ,E œ ßE œ ß E œ
" # % " # " " $ " %
! " &  $  " #  #  " $  $
 #  %  $ #  "  $ $ %  # (

" # $

Ô × Ô × Ô ×
Õ Ø Õ Ø Õ Ø

 

 b b b" # $œ œ œ
"  # $
% "  $
$ " %

Ô × Ô × Ô ×
Õ Ø Õ Ø Õ Ø, , 

 Find the general solution for the system given by
 a. E œ" "x b

 b. E œ2 2x b

 c. E œ3 3x b


